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80,000,000& *99. 10%
aciits =2 FHISA 2 1A
64,000, 000& *99. 10%
2N =2 FHIAMY 2 1A
130,000,000 *99.28%
dS~Hdel 2E SLF2 HHE
195,000,000 *99.28%
E5c otdE0E €S WHEXSM
100,000,000& *99. 10%
E5cl ti=IHd A
100,000,000 *99. 1%
S80S =2 FHIS A
100,000, 000&
SI=0tS =2 EHHISA
57,000,000& %99. 10%
AJI0HS =2 EHHISA
83,000,000& %99. 10%
SE0tS =2 FHISA 2 1A
124,000,000 %99.28%
Of&HOFS Bi==2 FHISAH
55,000,000& *99. 10%
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CHE - EI(SA) - NRAY - B S

O34 AZ HAX P =2 EHI SA
65,000, 000& *99. 10%
Os&d EM4XTF =2 EEI S A
150,000, 000& *99.28%
OlS =2 &EHIS A 2 2A
50,000,000&
OtS =2 EHISA
60,000,000& *99. 10%
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0
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O0t2 =2 ZHISA
100,000, 000& %99

ton
=

F=IHEALS

CHelOtS Bi==IJH& S A 2 1A

40,000,000 *98.

2
(1N
e
=
1

HE AL

150,000, 000& *99.

P =
1]
[al]

Ok
0z
o
0f0

=2 HHAE

76,000, 000& *0.

ael0tEe 82 MHHAY 2 1A

118,000,000& 0.

o EF=Z HAAEY

70,000, 000& *0.

EH 82 HAHAY

62,000, 000& *0.

2l Bi+==2 ZHISA

108,000, 000& =0.

Bi=== ZHISAH

fon

o
TT

95,000, 000& *0.

LHE =2 ZHISA

60,000, 000& *0.

HEe| =2 HHISA

60,000, 000& *0.

S == ZJHISAL 2 1A

100,000, 000& 0.

SAXNT =2 HHISA

100,000, 000& 0.

SEXNF =2 HHISA

40,000, 000& *98.
77,000, 000& *99.

500,000, 000& 0.

. 10%
92%
10%

92%

28%

72%

90%

72%

90%

90%

72%

90%

90%

90%

90%

90%

100,000, 000& *0.90%
ZHIS A
100,000, 000& *0.9%
OEXY 2AEc HI0E =2 EXSAM

35,000,000 *1.08%
OSAY Zdlel dusd == EHUHAY

38,000,000& *1.078%
OEXNH HEX T Bi=IHLALES

300,000,000& *0.72%
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A R =y
HE: sAZMAYS
©? STYAIIBFELHAY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEEXH AN EZ2 HAHAMY
40,000,000& =1.08% 432
OHTH MBOS B2 3 A 2 2A
80,000,000& x0.9% 720
OHH =FENK =23 A
222,000,000& *0.7198% 1,598
OGS OIS =2 UMY 2 1A
95,000,000& *0.90% 855
OFGHH HAOtS 2 HAZHAEY
70,000, 000& =0.90% 630
OFGHH UWAOS E=2 HAZHAEY
55,000, 000& =0.90% 495
OFGIH A30I2 =23 At
130,000, 000& *0.72% 936
OLEEH NS EZ2ZIHAHSAM
50,000,000& =1.08% 540
OEEH ASOS EZIHAHSAM
92,000,000& *0.90% 828
OEEH Zot0tS ExZIHAHSAM
75,000, 000& =0.90% 675
O8E Y A40S =2 FHISAH 2 1A
117,000,000& *0.7189% 842
O&8E X Eot0tS =2 FHISAH 2 1A
80,000, 000& =0.90% 720
O&8EH &delltS =2 FHISA 2 1A
64,000,000& *0.90% 576
O&sH FHXF =2 UMY 2 1A
130,000, 000& *0.72% 936
0370 NS-UNel ¥S SYWSEE HHA
X E At 195,000, 000& *0.72% 1,404
0O272Y E=¢2l o022 &4=E WAL S A
100,000, 000& *0.90% 900
02729 =2l e AY
100,000, 000& *0.9% 900
OZ4H 230tS =2 ZFHISA
57,000, 000& =0.90% 513
OZ43 AMIIOE =2 ZFHISA
83,000, 000& x0.9% 747
o4 S20S =2 FHISAF 2 1A
124,000,000& *0.719% 892
OZ4H A0S B2 ZFHISA
55,000, 000& =0.90% 495
O34H Az HAXF =2 FHI3A
65,000,000& *0.90% 585
O34 EMXF =2 ZFHSA
150,000, 000& *0.72% 1,080
OZEH MEDNS =2 FHISA
60,000,000& *0.90% 540
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HE: sAZMAYS
Sl SO M A B M ALY (S5 &)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZd A0S =2 FHISA
100,000, 000& *0.90% 900
OSAMS tH=HE AL 40,000,000 x1.08% 432
O=3 ==& ALY 77,000, 000& %0.90% 693
OZ4sS Helot2 =3 A 21A
40,000,000& =1.08% 432
OZ LS B L B E ALY
150,000, 000& *0.72% 1,080
BH=OHE A (BX) 682,000 0 682,000
< 341,000
Al 341,000
401 AIEHIZL 2] 682,000 0 682,000
< 341,000
Al 341,000
01 A& Hl 682,000 0 682,000
Ol FHt == Et==2 HHAS
682,000,000 682,000
< 341,000
Al 341,000
St EML (EX) 321,250 321,250 0
= 257,000
Al 64,250
401 AIEBIZ 28I 321,250 321,250 0
= 257,000
Al 64,250
01 A& Bl 321,250 318,937 2,313
OstZ i 2801 321,250,000& 321,250
= 257,000
Al 64,250
JIAE BEZ SELIFAG(HEAIY) 428,000 428,000 0
TAEHIZXEUY 428,000 428,000 0
01 A& HI 424,919 424,919 0
OJHs B&Z SZFAY
428,000, 000& *99.28% 424,919
03 AIE 2 0HHI 3,081 3,081 0
OJHs B&Z SZFHAY
428,000,000& *0.7197% 3,081
JIHSHEEZ SELTAS 500,000 500,000 0
AEHI &2 500,000 500,000 0
A& HI 496,400 496,400 0
OJ s B&Z SZFAY
500,000,000& *99.28% 496,400
03 Al 20l 3,600 3,600 0
OJ s B&Z SZFAY
500,000,000& *0.72% 3,600
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A R =y
HE: sAZMAYS
©? STYAIIBFELHAY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
IISHANS AMEESE HEAMB(EX) 75,000 100,000 A25,000
< 37,500
Al 37,500
401 Al HI K 201 I 75,000 100,000 A 25,000
< 37,500
Al 37,500
01 A& Bl 75,000 100,000 A 25,000
OISHAXNG AXHEF=JA ML ALY
75,000,000 75,000
< 37,500
Al 37,500
2018 HUIAFS (EX) 739,000 0 739,000
< 665,000
Al 74,000
401 AIEHIZL 20HEI 739,000 0 739,000
< 665,000
Al 74,000
01 A& Hl 739,000 0 739,000
O3S ST E018 FHIAY
739,000,000 739,000
< 665,000
Al 74,000
=2 Z2&E Muioler XAAG(EX) 630,000 0 630,000
< 566,000
Al 64,000
401 AIEHI L 20 630,000 0 630,000
< 566,000
Al 64,000
01 A& Bl 630,000 0 630,000
O=2 LS NIl A (2 HE, S4
MIZ) 630,000,000 630,000
< 566,000
Al 64,000
SHEMEEZIHLAY 4,898,102 5,995,412 A 1,097,310
= 29,640
Al 4,868,462
SEYFICLEHESMA(HEAY) 4,656,000 3,881,430 774,570
401 AIEHI L 20 4,656,000 3,881,430 774,570
01 A& HI 4,643,428 3,870,950 772,478
OSENHY FUAY(RY Hot, 20, 28)
4,656,000, 000& *99.72998% 4,643,428
03 Al S THHI 12,572 10,480 2,092
OsZMEEE UM (22 ot Zo, 28)
4,656,000,000& *0.27% 12,572
SHEASH HOEE sX2el 65,820 65,820 0




A AL
HE: sAZMAYS
Sl SOiEMBEANMAL (el @2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
101 14 Hl 9,000 9,000 0
04 JIZHHZ22XREES 9,000 9,000 0
OHOIS&d M= =2 5,000,000& 5,000
OtiEd stEa 2e Ry 4,000,000 4,000
201 £B-2dH| 6,820 6,820 0
02 8323l 6,820 6,820 0
O=322<LHA 6,820
o &Il ¥ &otxE 23 6,820,000 6,820
401 AIEBIZ 201 8] 50,000 50,000 0
01 A& tl 49,460 49,460 0
OCtZ S HOIEd EALY
50,000,000 *98.92% 49,460
03 Al 20 HI 540 540 0
OCtZ S HOIEd E=ALY
50,000, 000& *1.08% 540
HAC? SENY sA 2L 109,592 109,592 0
201 et 9,592 9,592 0
02 =224l 9,592 0 9,592
OAACAZTENE =R 9,592,000 9,592
401 Al HI & 28I 100,000 100,000 0
01 A& HI 99,100 99,100 0
OHAHIAZTS ML SX2elAtS
100,000,000& *99. 1% 99,100
03 AIE 20 HI 900 900 0
OZGHIAZTEMNY SAZElAY
100,000, 000& *0.9% 900
Ao SENY 2I2UXNIAMS(EX) 66,690 0 66,690
< 29,640
Al 37,050
401 AIEHIZ 28I 66,690 0 66,690
< 29,640
Al 37,050
01 A& HI 66,690 0 66,690
O SEHYL SYBRANAANL (+F2
o) 31,500,000& 31,500
< 14,000
Al 17,500
OZYHe ZENY 2I2UXNANS (A
LEAH) 35,190,000 35,190
< 15,640
Al 19,550
ANZ=2lAE HE=> 1,200,000 2,733,000 A 1,533,000
< 960,000




A AL
HE: sAZMAYS
Sl AZa2AE HEa CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 240,000
2l AIENE > (A ) (BX) 1,200,000 733,000 467,000
< 960,000
Al 240,000
401 Al&HI & 28I 1,200,000 733,000 467,000
< 960,000
Al 240,000
01 A& HI 1,195,680 728,383 467,297
S AIEHE S ALY
1,200,000, 000& *99.64% 1,195,680
= 956,544
Al 239,136
03 Al 2 THHI 4,320 4,617 AN 297
=ClAIEIHE 2 Ar 1,200,000, 000& *0.36% 4,320
< 3,456
Al 864
A D MEEAFH 5,827,203 7,192,000 A 1,364,797
< 509,763
Al 5,317,440
XSO AL 5,827,203 7,192,000 AN 1,364,797
< 509,763
Al 5,317,440
FU=JAANG(LEXNSE S2HY|) 2,100,000 2,100,000 0
401 Al Bl 2B 2,100,000 2,100,000 0
01 A& HI 2,079,613 2,077,649 1,964
OHds Uis & & == EXSAM
35,000,000& *98.92% 34,622
O E Ecl sZEFSA
33,000,000& *98.92% 32,644
OHIE U= sZEESAM
32,000,000& *98.92% 31,655
OF4H =5 =2 JUISA
31,000,000& *98.92% 30,666
O=4E JHE 2 1A =2 ZHISAM
36,000,000& *98.92% 35,612
O=4H T 2 2 SS9 L =2 S At
33,000,000& *98.92% 32,644
OBLH A4F~RU0E =2 € i+=2 FH3
A 30,000,000& *98.92% 29,676
OUMD ZX S2EE Y 2 LI TA
40,000, 000& *98.92% 39,568
OHAH FHA0IS =2 FHIZSA
30,000,000& *98.92% 29,676
OSXY dFel dejdts o2 2 1A OFA
2 EZIZ A 35,000,000& *98.92% 34,622
OEEXNY Fael dI=sR0S A2 EEHSA
36,000,000& *98.92% 35,612

_17_




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEXY Ruel NSNS 2 1L OtA2EHE
S A 29,000,000& *98.92% 28,687
OEXNH HEX? sZTEZES A 38,000,000 38,000
OSXY MFel MENES &2 =22 415
At 27,000,000& 27,000
OH2H ENH s EZHIA
38,000,000& *98.92% 37,590
OUAY ST S2EE L HL2ZA
39,000,000& *98.92% 38,579
OH2H 2=+ 2 1A =23 AM
23,000,000& *98.92% 22,752
OREH MLAS 2 1A =22 EXISA
26,000,000& *98.92% 25,720
ORH &332 2 1L s2EZEIA
38,000,000& *98.92% 37,590
OREH NIH0E sSEHEZA
36,000,000& *98.92% 35,612
O2E3 58 2 1l SsEZESA
34,000,000& *98.92% 33,633
O3EY X 2 1 s2EZEIM
33,000,000& *98.92% 32,644
O399 AX =2 HUISA
33,000,000& *98.92% 32,644
OZolH MS0tE sSEEZA
38,000,000& *98.92% 37,590
OZol 2302 E+=2 HHIAEY
30,000,000& *98.92% 29,676
OZolH SEOS =2 ZHIAEY
32,000,000& *98.92% 31,655
O89H JE50t2 2 1A s EZE3SA
32,000,000& *98.92% 31,655
OdEd 2402 2 1A =2 FHIALY
34,000,000& *98.92% 33,633
OE8 Y RU0IE sSEEZA
34,000,000& *98.92% 33,633
Od=Y JHAXF =2 HHIA
30,000,000& *98.92% 29,676
OIEY DMK sSSEEZA
40,000, 000& *98.92% 39,568
Od=H FsX7 s EEZA
30,000,000& *98.92% 29,676
0278 AS0S S2EYTA
25,000,000& *98.92% 24,730
O=79% 2302 =S A
25,000,000& *98.92% 24,730
O=7Y% JHHOIS i==HE S A
25,000,000& *98.92% 24,730
O=7Y8 SU0E sSEEZA
25,000,000& *98.92% 24,730
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SN AL D
HH: ARSMBHATY
SHl: Xl ALY

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OSEY dEL =2 ZHAE

20,000,000& *98.92% 19,784
Osdd 3lHe sZZEHIA

48,000, 000& %98.92% 47,482
Osgd AL sZZEIA

32,000,000& *98.92% 31,655
OZ4H A0S 2 1A stHa2 EX3 A

37,000,000& *98.92% 36,601
OE4H DHADIE 2 1A sHi=2 X3 A

27,000,000& *98.92% 26,709
O4LH 2202 ZEI3A

36,000,000& *98.92% 35,612
O34 o202 AcHE2 1A sHi+=2 &

XS At 30,000,000& *98.92% 29,676

O34 ZX0t2 2 1L SH+=2 FHISA

35,000,000& *98.92% 34,622
O34 E202 2 1L SZ2EEZHSA

35,000,000& *98.92% 34,622
O2EY SU0ES s EEIA

35,000,000& *98.92% 34,622
O2EY SLiS s EHIA

40,000, 000& %98.92% 39,568
OZa EX0ES sTEFSAM

25,000,000& *98.92% 24,730
ORES EMS =2 SA

26,000,000& *98.92% 25,720
ORES NS =2 ML B A

30,000,000& *98.92% 29,676
ORES =30t =2 HEdSA

44,000,000& %98.92% 43,525
OLES S & A0S =2 FHUIAY

45,000, 000& *98.92% 44,514
OLES =S0t2 898 & ZHIAM

40,000, 000& %98.92% 39,568
OLES 2ANS OtAZE ZHSA

15,000, 000& *98.92% 14,838
OZNE 2S0S OLAZIMRI| S A

65,000,000& *99. 10% 64,415
OZ4sS LR~ZUHOIS OLA2RMRI| 2 A

18,000, 000& *98.92% 17,806
O2ds EX0IS2 € =5 FHISA

17,000,000& *98.92% 16,817
Onas BEXF 2 1L AT EZEHSAM

47,000, 000& %98.92% 46,493
OnIES HMBXNR OtA2EZE Y SHEHIAM

40,000, 000& %98.92% 39,568
Ongs AR =23 A

13,000, 000& *98.92% 12,860




FAAED
3y &

¢l X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OuZs =55 208 sTEESAM
48,000,000& 48,000
OnZs AEs 3OS =23 A
35,000,000& 35,000
Ounas ss s20S =23 AM
17,000, 000& 17,000
OLES SsZEZEIAM 35,000, 000& 35,000
03 Al =TI 20,387 22,351 A 1,964
O2AS US 2L B 42 SXSA
35,000,000& *1.08% 378
0O s Scl sZEZEIA
33,000,000& *1.08% 357
OHIE U= ST EESA
32,000,000& *1.08% 346
OZM3 =S Bi+2 BHIZA
31,000,000& *1.062% 330
O=4g JHE2 1A =2 FHISA
36,000,000& *1.08% 389
OS4E [t10Ne 20 89 L =2 SA
33,000,000& 1.08% 357
OBMH 4H~-2ultEs 52 ¥ =2 ZHIS
A 30,000,000& 1.08% 324
OHAH SX 2 I SHEAISA
40,000,000 x1.08% 432
OHLH GHA0S =2 ZHISA
30,000,000& *1.08% 324
OSXY MFel dejots o2 2 1A 2&
S A 35,000,000& *1.08% 378
OEXH el Mu=s30ES OtA2EE S A
36,000,000& *1.08% 389
OsXd Fuel UHE0t= 2 14 A2 H
S A 29,000,000& = 1.08% 314
O ENM s2EHIA
38,000,000& = 1.08% 411
OHH SEX s2EZE 2 His+==2 SA
39,000,000& *1.08% 422
OH2H 2=+ 2 1A =2 SA
23,000,000& 1.08% 249
OSZH UEYE o 1hA 222 SXBA
26,000,000& *1.08% 281
ORH &332 2 s s2ZEIA
38,000,000& 1.08% 411
OREH NIH0E sSEHEZA
36,000,000& *1.062% 383
OZ2E3 58 2 1l SsSEZESA
34,000,000& *1.08% 368
O35 X 2 1 s2EZEIAM
33,000,000& *1.08% 357
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SN AL D
I AFDAME

st
SRl XL A

SA - ZE-B(EN) - NRAY - B S il &t o il

O=58d AX =2 HUISA

33,000,000& *1.08% 357
O&EGHH MS0E s2TEESAM

38,000,000& *1.08% 411
O&EGYH 202 E+2 FHIAMY

30,000,000& *1.08% 324
O&EGH SE0S =2 FH A

32,000,000& *1.08% 346
O59d dI50i2 2 1l sEEZESA

32,000,000& *1.08% 346
OZ8d 2402 2 1A =2 FUIALY

34,000,000& *1.08% 368
OEEY 2UH0IE s EFSAM

34,000,000& *1.08% 368
OZSH JIAXF =2 HHAY

30,000,000& *1.08% 324
OZSYH IMIF sZEESAM

40,000,000& =1.08% 432
OAZ0 HENT S2LTTA

30,000,000& *1.08% 324
O3z AS0ES s EHEIA

25,000,000& *1.08% 270
O=7Y% 202 ti==HEd S A

25,000,000& 1.08% 270
O=7Y JHHDIS Bi==HE S A

25,000,000& 1.08% 270
O37Y SUDES s EEIA

25,000,000& 1.08% 270
O=2Y% =2 =2 FHAY

20,000,000& *1.08% 216
O=E2Y 3l&el s2EZHIA

48,000,000& =1.08% 519
O=2Y BAel s2EZHEIA

32,000,000& *1.08% 346
O4H ADI0IE 2 1A sti+=2 EX3A

37,000,000& *1.08% 400
O4H DHADIE 2 1A sHi=2 EX3A

27,000,000& *1.08% 292
OHH 2202 ZEI3A

38,000,000& *1.08% 411
O324H G202 ActA 2 1A SIS AL

30,000,000& *1.08% 324
O34 ZX0t2 2 1L Si+=2 FHISA

35,000,000& 1.08% 378
O34 ES0E 2 1L S2EHIHESA

35,000,000& *1.08% 378
OZEY SUDES s EHIA

35,000,000& *1.08% 378




2N A4

HY: ARDMBBARY
el XN AL EEREED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ&M SgltS sTHEZISAM
40,000,000& =1.08% 432
OZ2&d EXN0S sTEESAM
25,000,000& *1.08% 270
ORES SMS == SA
26,000,000& *1.08% 281
ORES NS =2 ML S A
30,000,000& *1.08% 324
ORES =30t =2 HEdSA
44,000,000& =1.08% 476
OLES S & AE0S =2 FHUIAY
45,000,000& =1.08% 486
OUES =205 2% 2 TFTA
40,000,000& =1.08% 432
OLES BANS OtAZEZEHSAM
15,000,000& *1.08% 162
OZMES 2ES0E OtAZIMRI| S A
65,000,000& *0.90% 585
O2ZUsS SXN~ZUHDOS OtA2IHYRXI] SA
18,000,000& *0.84% 152
OZLs ER02 € == FHISM
17,000,000& *1.08% 184
OnEsS YEXF 1A OFAZEZEH S A
47,000,000& x1.08% 508
Ounas HMBXNF OtAZ & SHIA
40,000,000& =1.08% 432
OLEsS AR =23 A
13,000,000& *1.08% 141
FOU=SEAL(NILHE=UEFA)NES) 637,203 492,000 145,203
< 509,763
Al 127,440
401 AIEHIZ 28I 637,203 492,000 145,203
< 509,763
Al 127,440
01 A& HI 637,203 486,697 150,506
F812 022 =& 20,000,000& 20,000
= 16,000
Al 4,000
O3 & Qulls =2 ZJHISA
30,000, 000& 30,000
< 24,000
Al 6,000
Otusd s2 = &XI3A  13,200,000& 13,200
< 10,560
Al 2,640
OSUOIS =2 ZHI3A 34,000, 000& 34,000
= 27,200
Al 6,800
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2N

el

a4
I A
X<

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

O430I2 sti=2 FHI3A 36,400,000& 36,400
< 29,120
Al 7,280

02 MClDiE ¢ 52 ZHBA
30,000, 000& 30,000
< 24,000
Al 6,000
O=1=s2 A2 NLRI| S A 30,000,000 30,000
< 24,000
Al 6,000
OZS0s s2ZF 3 A 26,000,000& 26,000
< 20,800
Al 5,200
O&42 ot SHEAY 36,200,000& 36,200
< 28,960
Al 7,240
OHEB s2Z &3 A 30,172,000& 30,172
< 24,138
Al 6,034
OZ2EH 8 s2ZE3AM 30,000,000& 30,000
< 24,000
Al 6,000

OEoIYH FELOIE sZ2ZEE A
30,000,000& 30,000
= 24,000
Al 6,000

O&89d Ret 2 2L =s22H
33,402,000 33,402
< 26,722
Al 6,680
OLDAOIE SsZ2ZF I A 34,400,000 34,400
< 27,520
Al 6,880
ORE(ZE) s2ZXHIA 20,000,000& 20,000
< 16,000
Al 4,000

OZ=s0tS &2 SXZHEIA 2 =2 FHIS

Al 19,200,000& 19,200
S 15,360
Al 3,840
O34H 2202 s EES A 36,829,000 36,829
< 29,463
Al 7,366
O&Z0IE OtAa2 ZEHISA 30,000,000& 30,000
= 24,000
Al 6,000
OHES s=2ZESAM 21,000,000& 21,000
< 16,800
Al 4,200
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HE ALY )
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
0ZFs 850 dgz O r=2gM=) &
=2 ZHIA 30,000,000& 30,000
< 24,000
Al 6,000
ORS0e s=2 19,400, 000& 19,400
< 15,520
Al 3,880
OUE0ES OtA2SHN LRI S A 17,000,000 17,000
< 13,600
Al 3,400
OnIS JH&E0ls Y=z OtA2EE
30,000,000& 30,000
< 24,000
Al 6,000
NS #dstArd 3,090,000 2,700,000 390,000
401 Al HI & 28I 3,090,000 2,700,000 390,000
01 A& Hl 3,065,585 2,677,266 388,319
OJIEZZ HYERX B4 200,000, 000& 200,000
OHEEEZ OtAZE TINRI| A
200,000,000& *99.28% 198,560
OHEIERZ & 400,000, 000& %99.28% 397,120
Ot s Sl sZEZE3A
40,000, 000& %98.92% 39,568
oads A& SZZEIA
35,000,000& *98.92% 34,622
OIS &l sZ2EZEI3A
25,000,000& *98.92% 24,730
O=S4H =SC0tE 022N LI BA
20,000,000& *98.92% 19,784
OZM MZ-AT OfABLMS)| 2 A
40,000, 000& %98.92% 39,568
O=4y F&t =2 ZHISA
40,000, 000& %98.92% 39,568
OHAD 2T-AH OPAZTHZA
50,000, 000& *98.92% 49,460
OUMD BH-ASY TH U L2 FHIZA
50,000,000& *98.92% 49,460
OsSXY el 2 ¥ == AX3A
34,000,000& *98.92% 33,633
OSXY =2el =2 2 o2z
3 At 31,000,000& *98.92% 30,666
OEXH oEe dENsS 2 2 2L ZF
3 At 35,000,000& *98.92% 34,622
OHA0 AR S2TEHBA
100,000,000& *99. 10% 99,100
OST0 NAAE Y22 HLAY
77,000,000 *99. 10% 76,307
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SN HED
A

A AADMBHATY
Sl XIS AY
2N -3 -2 (SH) - NHEMY - BES Off &F o4

O=Z0 AAYE 842 BUANY

23,000, 0002 *98.92% 22,752
02T 4 S2EIDM

100,000, 0002 %99, 10% 99, 100
05l FSUS S2EIIA

40,000,000%! *38.92% 39,568
OGP YIS S2EFIA

28,000, 0002 *98.92% 27,698
OG5 HADE S2EEIA

32,000, 0002 *98.92% 31,655
0SS RIS H42 ZUIAY

100,000, 0002 *99. 10% 99, 100
0SS S2E SRETIHIA 40,000,0008 40,000
OZY YBXT S2EIIA

50,000,000 *38.92% 49,460
OREH YN-REXNT S2EFIA

40,000,000 38.92% 39,568
OXEH HEXNT S2EFIA

10,000, 000! 38.92% 9,892
027 2208 S2EIIA

46,000,000 38.92% 45,504
027 I=0S S2EIIA

54,000,000 98.92% 53,417
024D U552 SRIFDA

50,000,000 *38.92% 49,460
O=CD (22 ST

50,000,000 *38.92% 49,460
0S4 BAZ SREFBA 50,000,008 50,000
O DHADIS 212 OFARHUM2I| A

57,000,000 *99. 10% 56,487
OB G202 52 L W42 FUIZA

43,000,000 *38.92% 42,536
OSMY TS o2 THBA

50,000, 000! *38. 92% 49,460
O34 SBOIS 0L THBA

50,000, 000! *38. 92% 49,460
O3 HTOIS YR HTFTA

200,000, 0002 200,000

OZEHY BAU-BEIS 02 GGAREIHIA

100,000, 0002 +99. 10% 99, 100
025 E2012 2% 2 52 ZFTA

50,000, 000! *38. 92% 49,460
OR=E S22 0j2 2% HIZA

50,000, 000! *38. 92% 49,460
OUES UEXT S2EFIA

100,000, 0002 +99. 10% 99, 100
OLNUE AE 02 OHAZINDI| B A

100,000, 0002 +99. 10% 99, 100
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SM: HED

B ARQMBHAIY
Ee: NG AS (2 &HH)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OnEs &sls &30 otA22E
40,000, 000& *98.92% 39,568
OnNEsE UAE S50 s ZEZ2A
40,000, 000& *98.92% 39,568
OUE?S MBS AJI0IE S2EEZA
20,000, 000& *98.92% 19,784
OSSD DM0IS C2HTZIA
100,000, 000& *99. 10% 99,100
03 A& 2 0HH| 24 415 22,734 1,681
OHEATZZ 0IAZ2 TMR2D| ZA
200,000,000& *0.72% 1,440
OHIEAZTZ S22 400,000,000 *0.72% 2,880
OtE S 22l s EEHZ2A
40,000,000& *1.08% 432
O0HZEES A58 2 H=E s EZ T2 A
35,000,000 *1.08% 378
OCHE S &2l s EEHZ2A
25,000,000 *x1.08% 270
OSNMEH 2C0I2 A2 MN LRI Z2AH
20,000,000 *x1.08% 216
OSAH AX~F A2 MNLR2D] ZAH
40,000,000& *1.08% 432
OS&H HE 202 =2 ZHI S A
40,000,000& *1.08% 432
OBMH SX~2H OFAZLE S AL
50,000, 000& *1.08% 540
QOHAMH SAH~ASE LA L Hi4Z2 HH|Z2A
50,000, 000& *1.08% 540
OEXH 2o 2 L =2 AX3A
34,000,000& *1.0778% 367
OEXH S22l AlAlIE s28 ¢ A2 EH
2 At 31,000,000& *1.0774% 334
OXH =2 =02 o2 2 24 &
= At 35,000,000 *x1.08% 378
070 N3 SREHBA
100,000, 000& *0.90% 900
OS0 JUUS Y2 N
77,000, 000& *0.90% 693
OFRHH JMAYAE S+ HHAIY
23,000,000& *1.0778% 248
O2EH YH s EZEHZ2A
100,000, 000& *0.90% 900
OEGIH ES0I2 s ZE3A
40,000, 000& *1.08% 432
OEGIH A0S s ZESA
28,000,000& *1.0778% 302
OEGIH A2 s ZE3A
2,000,000& *1.0778% 345
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A AL
M A2 MEEAF
2 XML A (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O&9d RelotS =2 EHAY
100,000, 000& *0.90% 900
OFEY HANT S2REFTA
50,000,000& =1.08% 540
OFZ0 FN-REXNT SREZZA
40,000,000& =1.08% 432
O SN SREFTA
10,000,000& *1.08% 108
0278 220S s2EE2A
46,000,000& *1.0778% 496
0270 Hs0i2 SREFTA
54,000,000& *1.0778% 583
OSEH dse s2EFIA
50,000, 000& =1.08% 540
OsEY Usel sZ2ZE3A
50,000,000& =1.08% 540
OE4H JHA0E ot OLA2R M 2T B A
57,000, 000& =0.90% 513
O24H Sl=0tE2 =2 L =2 FHISA
43,000,000& =1.0778% 464
OS4e BSOS 92 TIZA
50,000,000& =1.08% 540
O34 S80S o+ ZEHIA
50,000, 000& =1.08% 540
OZEH SL-SLE0S &L A2 EZEIA
100,000, 000& *0.90% 900
ORES E20i2 2% 2 52 IIIA
50,000, 000& =1.08% 540
ORES =% 0t 89 4XSAM
50,000, 000& =1.08% 540
OHES UEXD SREFZA
100,000, 000& *0.90% 900
OZLES =S 02 OtA2IMRI| SAt
100,000, 000& *0.90% 900
OunZs Zsts STHOS AT EZIA
40,000,000& =1.08% 432
ONES LAS SF0ES s EEEA
40,000,000& =1.08% 432
OuUEE HES A0S s EEBA
20,000,000& *1.08% 216
OEEH ZU0le &2 SZHIA
100,000, 000& *0.90% 900
HY2IAH (A&) 24,420 27,960 A 3,540
Jl2dyl (A4 24,420 27,960 A 3,540
Jl23dl (A4 n) 24,420 27,960 A 3,540
202 oddl 19,200 22,800 A 3,600
01 = LH o4 1l 19,200 22,800 A 3,600
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<

n0

Kio

Hl w

60
60

H3r
Wikd
RIS

5,160
5,160

Off &t 24

19,200

5,220
5,220
5,220

16 «128

=)
=

2| %

=

100,000

KJ
KE
ok
ol

2128

435,000

e

_’L
&l
oy
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